MP20 MOUNTING PLATE INSTRUCTIONS

3814’
972mm
16" 16"
406mm 406mm 1/4” (6mm) DIA. HOLES FOR
16" 16” MOUNTING PLATE TO WALL
406mm 406mm 8"
8 — 2 3/4"—~ 8 ] é’ —
MOUNTING PLATE 203mm 70mm 203mm mm
‘ 4 | BACK PANEL
8 & 8 8 g 8 L
® ® ® ® | ® ® ®
b i — T 1 |/~ 38 (10mm) DIA. HOLES
778 N ¢ ¢ \ FOR MOUNTING PLATE
200mm 55167 || & | / | TOWALL (20)
T I A N 20 1/8"
| A
I 'S P \ & 2 S 2 ° 2 = 2 L | * 511 mm
J } ) ) ) ) o | b & 5 9 | 77/8"
718" l‘ : [ 55/16"  200mm
|
22mm | e e Do | 135mm
| b ES *
| s\ = : — T
7777777 I U N 22 S
435/’ 13147 |~ 134~ |~ mm
1108mm 44mm 44mm
] 312 |~ o] 312~
32112 89mm 89mm
826mm 1/4-20 THREADED )
HOLES FOR MOUNTING 26 112
CUTOUT IN WALL FOR PLUMBING FOUNTAINS (12) 673mm
ROUGH-INS 5/6-18 THREADED
NOTE: REFERENCE FOUNTAIN HOLES FOR MOUNTING
INSTALLATION INSTRUCTIONS FOUNTAINS (16)
FOR EXACT WASTE AND SUPPLY
LOCATIONS
FINISHED FLOOR

Remove mounting plate from packaging. Read this instruction sheet before proceeding.
These dimensions are required to obtain proper rim and bubbler heights for compliance with
ANSI standard A117.1.

Install plumbing rough-ins as per fountain instructions (supplied with fountain).

Install (2) 1/4” (6mm) screws (not provided) into wall at 43 5/8” above finished floor. Use the two best hole
locations for your application. Hang mounting plate on these screws and level mounting plate before tightening
screws.

Reinforce the wall in shaded areas for framed wall construction so that it will adequately support
the water fountain. This reinforcement must support up to 300 Ibs static load and provide a means
for securing the mounting plate in place.

Attach mounting plate to finished wall surface with (12) 5/16” x 2” long bolts and flat washers, 6 per bracket
(not provided). Tighten securely. (Fastener must match wall type, i.e. lag screws for wood studs, bolts and
anchors for masonary construction.)

FOR PARTS, CONTACT YOUR LOCAL DISTRIBUTOR OR CALL 1.800.260.6640 97696C (Rev. B - 07/24)



MP20RA MOUNTING PLATE INSTRUCTIONS

38 1/4° 1/4” (6mm) DIA. HOLES FOR
. 972mm . MOUNTING PLATE TO WALL
406mm 406mm 3/8" (10mm) DIA. HOLES
16" 16 FOR MOUNTING PLATE
406mm 5 406mm TO WALL (20) 5/8"— | |~—
234"~ ’
| || 208mm | 7omm | | 28mm | | /| 16 mm
MOUNTING PLATE —~_ | !
e o s 8 4 Ly
| I
I ® ® o ! ® ® o | & i
BACK PANEL | e [ N
\‘ : & ¢ E | i 7 7/8" §
1 | ! } 556"  200mm
[ 201/8”
I ® ® ® ® ) ! & & * @ LA | 13fmm 511 mm
* I b ® & ¢ b
778" f T 5 o & | ® ® ® @ @ t E
200mm L ! ! | 718
5516" | | | |
13mm | | 1 . % &, 22mm §
LI AN
T = - : }
7/8” == - =+ = = =X — — - — — — — — — + — —F — — — — — — ¥
22mm o] ] 1304~ || 43 5/8"
44mm 44mm 1108mm
— 312 | 312 =
89mm 89mm
) 1/4-20 TTHREADEDS FOR 32112
627631’2 MOUNTING FOUNTAINS 826mm
MM £ CUTOUT IN WALL FOR PLUMBING TOWALL (12)
ROUGH-INS
NOTE: REFERENCE FOUNTAIN 5/6-18 THREADEDS FOR
INSTALLATION INSTRUCTIONS MOUNTING FOUNTAINS
FOR EXACT WASTE AND SUPPLY TO WALL (16)
LOCATIONS
FINISHED FLOOR

Remove mounting plate from packaging. Read this instruction sheet before proceeding.
These dimensions are required to obtain proper rim and bubbler heights for compliance with
ANSI standard A117.1.

Install plumbing rough-ins as per fountain instructions (supplied with fountain).

Install (2) 1/4” (6mm) screws (not provided) into wall at 43 5/8” above finished floor. Use the two best hole
locations for your application. Hang mounting plate on these screws and level mounting plate before tightening
screws.

Reinforce the wall in shaded areas for framed wall construction so that it will adequately support
the water fountain. This reinforcement must support up to 300 Ibs static load and provide a means
for securing the mounting plate in place.

Attach mounting plate to finished wall surface with (12) 5/16” x 2” long bolts and flat washers, 6 per bracket
(not provided). Tighten securely. (Fastener must match wall type, i.e. lag screws for wood studs, bolts and
anchors for masonary construction.)

97696C (Rev. B - 07/24) FOR PARTS, CONTACT YOUR LOCAL DISTRIBUTOR OR CALL 1.800.260.6640




WSMP20 MOUNTING PLATE INSTRUCTIONS

38 1/4” NOTE: REINFORCE THE
972mm WALLTO SUPPORT UP TO
— 93 18 314’ 300 LBS.STATIC LOAD FOR
6X 1/4” D HOLES 248mm 476mm SURFACEMOUNTING PLATE 5/8" ———| f—
FOR MOUNTING PLATE 11 _ |- R RV WITH FOUNTAINS AND BACK 16mm
TO WALL 32mm 32mm PANEL INSTALLED
00 o0 S SURFACE
// MOUNTING
PLATE
20X ®3/8” (10mm) BOTTLE FILLER LINE TO BE
HOLES FOR MOUNTING ° ° e ° / PLUMBED IN BETWEEN SURFACE
PLATE TO WALL MOUNTING PLATE AND BACK
L] PANEL
N T 34 7/16"
2y o o o
= o 12 114" 875mm
S Be $2mm 311mm
O
° : ¢° ° o [~ [-] ]
58” o [-] [-] [-] 0 ° o \( o ©
1473mm . : : R
/. o
o o ) [-] [-] (-] o
o/r T A I
3161’4“ 5/16’-18 THREADED 3118
mm HOLES FOR MOUNTING Soamm
255 FOUNTAINS TO WALL
29 3/4”
908mm 756mm
/ FINISHED FLOOR

1. Remove mounting plate from packaging. Read this instruction sheet before proceeding.
These dimensions are required to obtain proper rim and bubbler heights for compliance with
ANSI standard A117.1.

2. Install plumbing rough-ins as per fountain instructions (supplied with fountain).

3. Install (2) 1/4” (6mm) screws (not provided) into wall at 58” above finished floor. Use the two best hole locations
for your application. Hang mounting plate on these screws and level mounting plate before tightening screws.
Once level add 4 more screws for a total of 6.

4. Reinforce the wall for framed wall construction so that it will adequately support the water fountains and bottle
filler. This reinforcement must support up to 300 Ibs static load and provide a means for securing the mounting
plate in place.

5. Attach mounting plate to finished wall surface with (20) 5/16” x 2” long bolts and flat washers, (not provided).
Tighten securely. (Fastener must match wall type, i.e. lag screws for wood studs, bolts and anchors for masonary
construction.)

FOR PARTS, CONTACT YOUR LOCAL DISTRIBUTOR OR CALL 1.800.260.6640 97696C (Rev. B - 07/24)



